
 
rkd;ghLfs; 

 gpd;d tbtpyhd Fzfq;fisf; nfhz;l xUq;fikr; rkd;ghLfs; 

cjhuzk; -1:                1/2  x + 1/3 y = 20 

                                                                        1/4 x - 1/6 y =  0 

,jd; Fzfq;fis epiwntz;fshf khw;wp jPu;g;Nghk; 

                                 1/2  x + 1/3 y = 20                    

                                  1/4 x - 1/6 y =  0                      

rkd;ghL  ,id 2, 3 ,d; ngh.k.rp. 6 ,dhYk 

rkd;ghL  ,id 4, 6 ,d; ngh.k.rp. 12 ,dhYk; ngUf;FNthk;. 

     X 6   6 X 1/2  x + 6 X  1/3 y= 6   X 20                    

                                 3  x + 2y = 120                     

     X 12   12 X 1/4  x - 12 X  1/6 y = 0   X 20                    

                      3  x - 2y = 0                     

 +          6  x = 120      

                            x = 20      

                         x = 20   I       ,y; gpujpapl      

                             2y = 120 - 60    

                        y = 30   

                               x = 20       

                               y = 30                          

 

tpdh    :                        2/3  x + 3/2 y = -1 

                                                                              4x - 5y     =  22 

khfhz fy;tpj; jpizf;fsk; - thuhe;jg; ghlrhiy 

ghlk;:  fzpjk;  

juk;: 11 
Mf;fk;: Mrpupia  A.M.F. e];upd; 

Nf/ Nffhiy rh`puh kfh tpj;jpahyak; 

thuk;  - 8 

tpil 



 Kw;nwhU Kiwahf xU khwpapd; gpd;dtbt Fzaq;fis rkd;gLj;Jtjd; 
%yk; jPu;f;f KbAk; 

cjhuzk; -2:                1/2  m + 2/3 n  =  1                    

                                                                        5/6 m  + 1/3 n =  4                      

 

                  X  2                                           2   X     5/6  m + 2   X     1/3 n  =  2   X     4 

                                                                                                     10/6 m  + 2/3 n =  8                      

jw;NghJ  -    ,q;F 2/3 n rkd; vd;gjhy; fopgLk;  

10/6 m  - 1/2 m =  8 - 1                    

10/6 m  - 3/6 m =  7 

              7/6 m =  7      

               m =  6      

                         m = 6   I       ,y; gpujpapl      

                                                                                 1/2  x 6 + 2/3 n  =  1                    

                                                             2/3 n  =   1 - 3 

                                                                                            2 n  =    - 6 

                                                  n =  -3 

                    m =  6       

                                n = -3                          

 

tpdh: I                              1/3  x + 1/2 y = 4 

                                                                                 1/2 x -  y =  1 

 

            II:                          m/4   + 5n/3   =  36                    
                                                                        3m/8  - 5n/12 =  -2     

NkYk; xU Kiwahf rkd;ghl;L Nrhbapy; xU njupahf;fzpaj;ij vOthahf;fp 
kw;iwa rkd;ghl;by; gpujpapl;L jPu;f;f KbAk;.  gf;fk; 66 Ig; ghu;f;f. 

gapw;rp 13. 1 I Nkyjpf gapw;rpahf nra;f.               

tpil 


